Math 126 Unit 10 Review ey ,éj

#1 —10: Factor each expression.

1) 4x° — 49x 2) 9x% + 15x + 4 3) 8x%—6x—9
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4) 25x* —10x +1 5) 3x*—243 6) 12x% — 31x* + 20x
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7) 2(x —4)> + 6(x — 4)* 8) 5(x + 1)* —3(x + 1)°
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#11 — 18: Use your knowledge of the unit circle to solve for the missing angle, x, in each equation.
Draw a diagram for each, and give all values for the angle, X, when 0 < x < 2.

11) sinx=\—/2—E 12) cosx = —-2\/3 13) 2cosx—1 =0 14) tanx =0 5’_
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15) 2sinx—1=0 16) —2cosx =2 17) —tanx—1=0
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19) secx—2=0 20) \/ECSCX:—Z 21) cotx =0 %
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#23 —26: Factor each trig expression.
23) 2c¢scéx — 3cscx + 1 24) 2sin®x + Ssinx — 7
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25) 4cos“x — 25 26) 2sec’x — 12sec x
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#27 — 33: Factor, then use the zero-product property to solve.

27) 5x%+45x =0 28) 6x% —5=13x
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30) 3(x~1)2 4 (x = 1) = 0
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32) x*(x+7)+16(x+7) = 0

Cx + 7)(9(‘2'4—!@) =0

Xe=1 2 4

33) x2(x—2) —12(x = 2) = 0
(1-2)(x*12)=0
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#34 — 41: Solve each trig equation by factoring.

34) 2cos®x —cosx—1=0
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36) csc’x+3cscx+2=0
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35) 2sin®x +3sinx+1=0
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38) cos®x —cosx =0 39) 4sin‘x —1=0
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40) sec’x =4 =0 41) 2cos*x —3cosx +1=0
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